Introduction to Cryptology

Tutorial-04 Mathematical Background: Extension Finite Fields

28.03.2023, v42

Page : 1











Extended gcd	Algorithm:	Г	A2 - A1 - a A2	1 Г	B2 - B1 - a B2	1	
P ₁ (x)	P ₂ (x)	A1(x)	A2(x)	B1(x)	B2(x)	Q(x)	R(x
x ⁵ + x ³ + 1	x+1	1	, 0	0	_ 1	x ⁴ + x ³	- 1
x+1	1 +	0 *	1	1	0 - (x ⁴ + x ³)*1 = x ⁴ + x ³	x+1	0
x ⁵ + x ³ + 1 = 0 x ⁵ = x ³ + 1	Check: (x + 1)	=> (x ⁴ +	• x ³) = (x + 1) · 1 + x ⁴ + x ⁴ + x ³ = 1	modulo (x ⁵	+ x ³ + 1) (³ + 1)		

polynomial $P(x) = (x^5 + x^2 + 1)$	
Solution 4-5:	
If $P(x) = x^5 + x^2 + 1$ is the modulus then it	is equal to zero
That is $x^5 + x^2 + 1 = 0$ Thus $x^5 = x^2 + 1$	1
Let us compute the exponents of x over	this field:
x ¹ = x	$mod(x^5 + x^2 + 1)$
$x^2 = x^2$	$mod(x^5 + x^2 + 1)$
x ³ = x ³	mod (x ⁵ + x ² + 1)
$x^4 = x^4$	$mod(x^5 + x^2 + 1)$
x ⁵ = x ² + 1	mod (x ⁵ + x ² + 1)
$x^6 = x (x^2 + 1) = x^3 + x$	mod (x ⁵ + x ² + 1)
$x^7 = x (x^3 + x) = x^4 + x^2$	mod (x ⁵ + x ² + 1)
$x^8 = x^5 + x^3 = x^3 + x^2 + 1$	mod (x ⁵ + x ² + 1)
$x^9 = x^4 + x^3 + x$	mod (x ⁵ + x ² + 1)
$x^{10} = x^5 + x^4 + x^2 = x^4 + x^2 + x^2 + 1 = x^4 + x^4$	1 mod (x ⁵ + x ² + 1)
$x^{11} = x^5 + x = x^2 + x + 1$	mod (x ⁵ + x ² + 1)
$x^{12} = x^3 + x^2 + x$	$mod(x^5 + x^2 + 1)$



sign a circuit c)= x + 1 in G eck the circuit clution 4-6	which multiplies F(2 ⁵). t by multiplying First comp the inverse	any serial di $I(x) = (1 + x^2)$ uting the multiplication in th	ata stream I(x) + x ³) by H(x)= Itiplicative inver k) ⁻¹ mod g(x) =	by the invers = (x + 1) ⁻¹ se of b(x) m (x + 1) ⁻¹ mo	se of the polyno lodulo g(x) od (x ⁵ + x ³ + 1)	imial	
omputing H(x) by the Extend	ea gca Algóri	<u>unm:</u> A2 = A1 - a A2	ı - r	B2 = B1 – q B2	1	
P ₁ (x)	P ₂ (x)	A1(x)	A2(x)	B1(x)	B2(x)	Q(x)	R(x)
x ⁵ + x ³ + 1	x+1	1	0	0	_ 1	x ⁴ + x ³	. 1
x+1	1 ←	0 *	1	1 *	$0 - (x^4 + x^3)^{*1} = x^4 + x^3$	x+1	0
$x^{5} + x^{3} + 1 = x^{5} = x^{3} + 1$	= 0 Check: (x	+ 1) (x ⁴ + x ³) =	= x ⁵ + x ⁴ + x ⁴ + x ³	=> H = x ³ + 1 + x ⁴	(x)= (x + 1) ⁻¹ mc + x ⁴ + x ³ = 1 m	$d(x^5 + x^3 + \cdots)$	1) = (x ⁴ + x ³) 1) q.e.d







. 10.9	P ₂ (x)	B1(x)	B2(x)	Q(x)	R(x)
K ⁵ + x + 1	$x^4 + x^2 + 1$	0	1	х	X3+1
x ⁴ + x ² +1	X3+1	1	Х	х	X2+X+1
X3+1	X2+X+1	X	x ² +1	X+1	0
					-
					-
P ₁ (x)	P ₂ (x)	B1(x)	B2(x)	Q(x)	R(x)
P ₁ (x) X ⁵ + x + 1	P ₂ (x) x ² +1	B1(x) 0	B2(x) 1	Q(x) x ³ +x	R(x)
P ₁ (x) X ⁵ + x + 1 x ² +1	P ₂ (x) x ² +1 1	B1(x) 0 1	B2(x) 1 x ³ +x	Q(x) x ³ +x x ² +1	R(x) 1 0

P1(x) P2(x)		B1(x)	B2(x)	Q(x)	R(x)
x ⁷ + x ⁶ + 1	x ² + 1	0	1	x ⁵ +x ⁴ +x ³ +x ² +x+1	x
x ² + 1	x	1	x ⁵ +x ⁴ +x ³ +x ² +x+1	x	1
x	1	x5+x4+x3+x2+x+1	x ⁶ +x ⁵ +x ⁴ +x ³ +x ² +x+1	x	0
= x ⁸ +x ⁷ +x ⁶ +x ⁶	5+x4+x3+x2 +	x ⁶ +x ⁵ +x ⁴ +x ³ +x ² +x+1	$ x^7 = x^6 x^8 = x^7 $	+ 1 + x = x ⁶ + x +	1
= x ⁶ + x + 1 +	x ⁶ + 1 + x +	+1			